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MTH-4107: Worksheet#4 Finding Equations of Parallel and Perpendicular Lines

1. Find the equation of the line which passes through ( 8, g ) and ig'paralleljto
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2. Find ame equation of the line which passes through { -8, -i Jan

perpendicular jto the line whose equation is x +-E— 2=0.
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n 3. Find the equation of the line which passes through point (- g, - E yandis

paralleljto the line whose equation is %x +2y-2=0.
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4. Find the equation of the line which passes through point ( g ) - g )and is
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perpendiculapto the line whose equation is —7x- = 7}’
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ﬂ 5. Find the equation of the line passing through point ( -% , -g ) given that

this line i o the line whose equation is x - % =-1.
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ﬂ 6. Find the equation of the line passing through point ( -2, -1.5 ) given that
this line €' perpendicular)to the line whose equation is 2x—-7y +3=0.
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ﬂ 7. Find the equation of the line which passes through { 275 ) and is
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perpendicular}o the line whose equation is XY+ 3=0.
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n 8. Find the equation of the line which passesthr;lu h ( 1% and |@to
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ﬂ 9. Find the equation of the line which passes through { 2, § ) anto
| the line whose equation is - ; - § +6=0.
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10. Find the equation of the line which passes through ( % ) - % }and is

perpendicular)to the line whose equation is gx -3y+1=0.
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